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®5-1 BRITOVIALHHLU-EXRREZEMOEEN O LEBHE (FHR)

(BAL: Fho/4E)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHBERLES 2,936 43 197 24 3 11 212 17 155 2
FFESENIEE 769 24 224 60 39 28 76 5 38 1
N 168 2 59 7 1 2 15 1 7 0
HER 24 0 4 2 0 0 9 0 3 0
BER 194 8 76 5 17 14 23 1 3 0
th TER 172 1 52 20 3 2 9 1 15 0
i RIRAD 19 3 4 2 0 0 2 0 1 0
an #HENE 39 1 8 1 11 3 3 0 0 0
| |BIEI Oy N 616 16 203 38 32 21 60 5 29 0
B| [EEoov7ss 153 8 21 22 7 8 16 0 9 0
#) JeiEE-Eit 100 0 11 10 5 7 5 0 9 0
EEY
ok 22 1 5 11 0 0 3 0 0 0
TEE 3 0 0 0 1 0 1 0
FE 8 0 0 1 0 0 1
]| 1 0
JUIN - A 18 7 4 0 0 0 6 0
s [ mam | se | ome | mm |won | B0 e | R | macr
HHHBENLES 117 9 32 21 0 1 0
HARE 15 3 0 0
';"; HER 7 3 0 0
i BEER 0 0
m FER 19 0 6 3 0 0 0
] L 0
] HEINE 1 0 1 0
% | (AEIovyRNE 43 0 7 8 0 0 0
0| [ERITOvRE 74 8 25 13 0 0 0
o= deimE-Eit 41 7 9 8 0 0 0
ﬁ EE
N aaki 5 1 2 1 0 0 0
g plis 1 0 0 0 0 0
i E 6 0 3 1
rHE 0 0 0 0
JUIN - EE 22 0 12 3 0
o |mam | omE | ome | mmo s | B0 e | A<y | mcr
BHEAERLES 35 2 9 0
AR NEE 37 6 12 6 0 0
HARE 1 0
HEE 1 1
BEER 0 0
£ TER 2 0 1 0
# RIRAD
an HEE 0
7| [BAERIEvINE 5 0 2 0
B | [EmJavsar 33 6 11 7 0
# LEE Rt 15 6 1 4 0
EEY
aak:i 0 0
ITEE 0
FE 0
rHE
Ju - R 17 10 0




®5-1 BRITOVIALHHLU-EXRREZEMOEEN O LEBHE (FHR)

- (BAL: Fho/4E)

A2V N —

TR | T | 2T L el FESA BED | zaca | 2ot
BHEAERLES 17 0 36 229 64 1,882 14 26 3
FFERENIEE 25 2 17 38 39 74 0 66 14

mARE 10 0 3 11 4 39 6 0
HER 1 4 1 1 0
BER 2 0 3 7 17 12 7 0

th FER 9 2 4 13 18 19 0 2

i RIRAD 0 3 2 1 0 0 1

an HENE 0 0 0 0 0 10 0

B |BIEI Oy N 23 2 16 34 39 72 0 23 3

B| [EmJov5ser 2 1 7 0 [ 43 11

#) deiEE Rt 2 1 3 0 0 36 11

EEY
ok 0 0 0 1 0 0
bl 0 0 0 0 0
[ 0 0 0 0 5
rHE 1
Ju - R 0 2
hIR.aY s =
T | docy | @mer | 2ot | sran | snem|FESA BED | macs | 2ot
Hiae<d
HHHBENLES 1 1 3 24 8 13 2 0 2
HARE 0 0 8 4

I;"; HEER 0 1 2 0 1 0

i BEE 0

B FES 0 1 1 4 0 3 0 0

] REE 0

5] HENE 0 0 1

#®| |EERIOvIRNE 0 1 2 15 1 8 0 0 0

| [ERIOvIRE 0 0 1 9 7 6 2 2

o= dbiEE - Rt 0 1 6 1 5 1 2

2|

% ek 0 0 1 0 0 0 0

e A 0 0 0 0 0 0 0

i E 0 0 1 0 0 0

e E 0 0

JUIN - 4R 0 1 5 0 0

IRy e s -
A EIRCIETI 70t | e (snes FES FED || 2ot

BHEAERLES 1 15 1 6 0
FERENEE 0 6 5 2 0 1

N 0 0 0

HER 0 0 0 0

BEE

= TER 0 0 0 0

® RIRAD

an HEE 0

7| [BAERIEvINE 0 1 0 1

B | [EmJavssar 0 7 5 [ 0 [

#) deiEE-Eit 0 2 0 1 0 1

EEY

ok 0 0
plig 0 0
FE 0

rHE

JUN - i 2 5




®5-2 BARTOVIALHHLU-EXRREZEMOEENOLEBHE HHKR)

(BAL: Fho/4E)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHBERLES 2,093 8 75 16 11 8 104 12 84 1
FFERENIEE 535 7 102 28 30 11 68 5 36 1
KR 87 0 11 5 4 5 0 3 0
HAE
HER 58 0 3 6 3 1 11 1 15 0
BER 177 1 70 3 7 3 16 3 7 0
th FER 31 0 5 7 1 0 7 0 1
5] EE 17 2 2 0 0 0 1 0 1 0
an HENE 22 1 2 1 9 1 2 0 0
B |BIEI Oy N 392 5 93 23 24 8 41 4 27 0
B | [EmJavrser 44 2 9 5 5 3 27 T 9 0
#) deiEE Rt 123 0 8 3 5 3 16 0 9 0
EEY
ok 7 2 0 0 0 0 2 1 0 0
bl 3 0 0 0 0 1 0
[ 3 0 2 1
E 2 2
JUN - A 5 0 0 0 0 0 4
s [ mam | se | ome | mm |won | B0 e | R | macr
HHHBENLES 94 15 16 25 0 1 0
IR 9 0 0 2 0 1 0
HARE
ol | EER 7 2 g 0
i BEER 0 0
B FES 7 0 1 2 0 0 0
B RIRHD
5] HENE 1 0 0 0
#®| |EERIOvIRNE 24 0 2 7 0 1 0
| [ERIOvIRE 70 15 14 18 0 [ 0
= dbiEE - Rt 52 12 7 14 0 1 0
2|
% ek 6 2 1 1 0 0
s A 1 0 0 0 0
i E 4 0 2 1
e E 0 0 0 0
Ju - R 8 0 3 2
o | mam | omE | omm | mmo s | B0 wer | A<y |mcr
BHEAERLES 28 20
FERENEE 62 10 9 21 0
RBE 6 0 3 0
N
HEE 1 0
BER 0 0
= TER 2 0 2
® RIRAD
an HENE 0 0
o |BEEIZovIRE 10 0 0 5 0
B | [EmJavssar 52 70 9 16 0
#) deiEE-Eit 47 8 7 16 0
EEY
ok 5 2 2 0
plig- 0 0
FE 1 0 0
rHE
Ju - R 0 0




®5-2 BARTOVIALHHLU-EXRREZEMOEENOLEBHE HHKR)

- (BAL: Fho/4E)

A2V e o —

A EIRCIETI 70t | i (snes FES FED ziea| 2ot
BHEAERLES 19 0 30 97 170 1,436 20 2 0
FERENEE 5 1 15 22 81 53 36 36

KR 1 0 1 5 31 15 3 0
HAE

HER 1 7 2 6 2
BER 0 0 2 5 47 12 0

th FER 1 1 2 5 1 0 0

i RIRAD 0 1 2 0 4 0 1

an HENE 0 1 1 0 3 0 0

B |BIEI Oy N 4 1 14 19 80 40 3 3

B| [EmJov5ser T 1 2 T 13 32 32

#) deiEE Rt 1 0 2 1 13 32 32

EEY

ok 0 1 0 0 0 0

bl 0 0 0 0

[ 0 0 0

]3| 0

JU - pEE 0 0 1

hIR.3aV —r s e
TR | T | 2T R RESA| ZED |z | 2ot

HHHBENLES 1 1 3 10 10 8 1 4

R 0 0 1 2 0 2 0

HARE

I;"; HEER 0 1 2 0 2

i BEE 0

= FES 0 1 0 2 0 0 0 0

B RIRHD

5] HE)E 0 0 0 0

#®| |EERIOvIRNE 0 1 3 6 1 4 0 0

| [ERIOvIRE 0 0 1 3 9 4 1 ]

o= dbiEE - Rt 0 0 1 2 7 4 1 3

2|

% ek 0 0 0 0 0 0 0

e A 0 0 0 0 0 0 0

i E 0 0 0 0 0 0

U E 0 0

JUIN - 4R 0 0 2 0 0

IRy e s -
A EIRCIETI 70t | man (snes FES FED || 2ot

BHEAERLES 0 0 4 4
FERENEE 0 2 6 4 7 1 0

RBE 1 1

N

HER 0 0 0 0

BEE

B2 TER 0 0 0

® RIRAD

an HEE 0

7| [BAERIEvINE 1 2 0 0 0

B | [EmJavssar 0 1 7 4 7 T 0

#) deiEE-Eit 1 4 4 7 1

EEY

ok 0 0 0 0

plig 0 0 0
HE 0

rHE

Ju - R




®5-3 BRI OVIALHHL-EXREEMOEBEINOLEBHE (HER)

(BAL: Fho/4E)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHEAERLES 1,543 1 53 29 1 13 68 6 180 0
FFERENIEE 566 17 128 25 14 14 85 3 38 1
KR 28 2 5 1 1 1 14 0 0
mARE 155 6 11 9 0 3 19 1 18 0
HEE
BER 223 4 84 3 4 4 36 0 8 0
th TR 23 1 5 5 1 0 2 1 0 0
5] EE 13 3 4 1 1 0 1 0 0 0
an HENE 16 0 1 0 4 3 0 0 0
B |BIEI Oy N 458 15 110 19 10 11 73 3 26 1
B| [EEJov75s 108 2 18 6 4 3 12 0 12
#) deiEE Rt 86 0 13 2 3 3 7 0 10
EEY
ok 11 1 1 1 1 0 1 0 2
bl 0 0 0 0 0 0
[ 3 0 1 1 0 0 2
E 2 0 1
JUN - A 6 3 1 0 0 1
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 115 9 20 37 0 1 0
R 6 0 0 3 1
HARE 19 3 0 0
F:% BER
i BEE 0 0
£ FRR 6 0 2 1 0 0 0
B RIRHD
5] HENE 1 0 0 0
#®| |EERIOvIRNE 32 0 2 7 0 1 0
2 EESLEPEL S 82 3 18 30 0 1
o= dbiEE - Rt 60 7 8 26 0 0
2|
% ek 11 1 4 1 0
s A 0 0 0 0 0
i E 4 0 3 1
e E 0 0 0
Ju - R 6 0 3 2
s |mam | omE | ome | mmo s | B0 e | A<y e
BHEAERLES 52 0 20 0
FERENEE 77 3 8 52 0 0 0
N
HEE
BER 0 0
B2 TER 1 0 0
® RIRAD
an HENE 0 0
7| [BAERIEvINE 1 0 0 0
B | [EmJavssar 76 3 8 51 0 0 0
#) deiEE-Eit 65 3 4 50 0 0 0
EEY
ok 10 0 4 1
plig- 0 0
HE 0 0
rHE
Ju - R 0 0




®5-3 BRI OVIALHHL-EXREEMOEBEINOLEBHE (HER)

(Bf: Fho/4F)

IRy e = -
A EIRCIETI 70t | i (snes FES FED ziea| 2ot
BHEAERLES 59 0 59 53 8 993 15 0 6
FERENEE 24 0 13 39 25 99 6 36
KR 1 0 1 0 0 1 0
mARE 2 2 18 7 60
HEE
BER 8 0 6 15 15 34 1
th FER 3 0 1 3 1 0
5] EE) 0 2 0 0 0 0
an HENE 0 1 1 0 3 0 2
B |BIEI Oy N 14 0 13 38 22 98 2 4
B| [EmJov5ser 11 0 T 2 [ 4 32
#) deiEE Rt 8 0 1 2 0 3 32
EEY
ok 3 0 0 0 0
bl 0 0 0
[ 0 0
]3| 0
JU - pEE 0
h'IR.3aV e s —
o EFRCHFY IC) R RESA| ZED |z | 2ot
HHHBENLES 1 0 2 19 3 14 0 7
IR 0 1 2 0 0
HARE 0 1 9 7
F:% HEE
n BEE 0
= FES 0 0 0 2 0 0 0 0
B RIRHD
5] HE)E 0 0
#®| |EERIOvIRNE 0 0 2 13 0 7 0 0
| [ERIOvIRE 0 0 0 6 3 7 0 7
= dbiEE - Rt 0 0 0 5 3 7 0 4
2|
% ek 0 0 0 1 0 0 0 4
s A 0 0 0 0 0
i E 0 0 0 0 0 0
e E 0 0
JUIN - 4R 0 0 0 0 0
IRy e s -
A EIRCIETI 70t | man (snes FES FED || 2ot
BHEAERLES 0 1 9 6 16 0
FERENEE 0 0 1 1 1 5 5
N
HEE
BEE
! TER 0 0
® RIRAD
an HEE 0
7| [BAERIEvINE 0 0
B | [EmJavssar 0 0 T T [ 5 5
#) deiEE-Eit 0 0 1 1 5
EEY
ok 0 0 0 0 5
plig 0 0 0
FE 0 0
rHE

Ul - pidE




®5-4 BARITOVIALHHL-EXRREZEMOEBENOLEBHE(BHER)

(B Fho/5)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHEAERLES 3,402 12 371 14 21 16 212 24 256 9
FFERENIEE 1,582 13 241 85 29 34 181 15 159 3
RigE 109 3 12 11 1 2 19 0 6 1
mARE 317 5 56 11 1 5 14 2 3 0
HER 252 0 14 12 2 1 34 2 83 0
BEE
th TR 294 1 96 24 2 3 18 3 33 1
5 EE 290 3 11 8 1 7 24 4 12 0
o #HE)E 79 1 8 4 16 5 7 0 10 0
B |BIEI Oy N 1,341 13 197 70 24 25 117 11 148 2
B| [EEJov75s 241 0 44 16 6 9 64 4 12 1
#) deiEE Rt 101 0 8 7 2 2 17 3 9 0
EEY
ok 58 0 3 1 1 0 18 1 2 0
bl 9 0 1 0 0 0 5 0 0
[ 12 0 3 0 0 8 0 0 0
HE 2 0 2
JUN - A 59 0 31 4 2 7 14
s [ mam | se | me | mm |wow | B e | R | macr
HHHBENLES 512 23 83 170 0 5 0
F 3] 30 2 0 10 0 1 0
HARE 88 18 0 0
;'; HEER 84 42 0 0
B FEE 53 5 17 7 0 1 0
] R 0
5] HE)E 4 0 1 0
#®| |EERIOvIRNE 259 7 18 77 0 2 0
| [ERIOvIRE 253 16 65 94 0 3 0
= dbiEE - Rt 124 11 21 37 0 3 0
2|
“ th & 25 3 3 7 0 0 0
e A 5 0 0 1 0 0 0
i E 35 1 18 9 0 0
e E 1 0 0 0 0 0
JUIN - 4R 64 0 23 38 0
s | mam | omE | omm | mmo s | B0 wor | ker e
BRAERLES 0 0
FERENEE 338 18 80 149 0 0 0
RBE 14 2 0 8 0
N 61 17
HER 64 45
BEE
= TER 23 5 11 3 0 0 0
® RIRAD
an HEE 1 0
7| [BAERIEvINE 164 6 11 73 0 0 0
B | [EmJavssar 174 11 69 76 0 0
#) deiEE-Eit 68 8 20 28 0 0
EEY
ok 9 2 1 3
plig- 1 0
FE 32 1 23 6
rHE
JUN - i 65 26 38




®5-4 BARITOVIALHHL-EXRREZEMOEBENOLEBHE(BHER)

- (BAL: Fho/4E)
A2V s =
A EIRCIETI E;J%—gz@ sl [ ponam|F A ﬁg’ FUCA| zot
BHEAERLES 21 3 125 159 207 1,918 0 17 16
FFERENIEE 38 3 101 162 111 340 1 35 31
KR 8 3 9 22 11 1 0
mARE 6 0 3 91 21 96 3 0
HER 5 9 14 71 1 0 3
BEE
th FTER 7 3 4 18 63 17 1 2
5] EE) 0 0 76 16 0 124 0 1 1
an HENE 4 0 4 2 4 10 2 2
B |BIEI Oy N 32 3 99 149 109 329 1 6 8
B| [EmJov5ser 7 0 2 13 T 12 29 23
#) deiEE Rt 2 0 0 0 0 28 21
EEY
ok 4 2 12 1 11 0 1
bl 0 0 0 0 0 1
[ 0 0 0 0 0 0
rHE
T - i 0 0 0 1
hIR.aY s =
jﬂ*y%*g T | BT 24 | wnag| TV BED ek | 2ot
HHHBENLES 1 1 19 117 12 74 1 0 4
R 0 4 11 0 2
HARE 0 4 41 25
;g HEER 0 2 18 1 21 0 0
| | |EER
B FES 0 1 7 8 1 5 0 0
] REE 0
5] HE)E 0 0 3 0 0
#®| |EERIOvIRNE 1 1 17 81 2 52 0 0 0
| [ERIOvIRE 0 0 2 36 10 22 1 7]
o= dbiEE - Rt 0 0 2 23 5 18 1 3
2|
% ek 0 0 10 0 2 0 0
s A 0 0 0 1 2 0
i E 0 0 2 4 0 0 0
e E 0 0 0
JUIN - 4R 0 1 1 0 0
hIA,3Y s s —
A EIRCIETI ég”géi@ v pnem| o) EED g | 2ot
BRAERLES
FERENEE 0 5 49 4 29 2 1
RBE 2 2 0
N 0 3 24 17
HER 0 12 1 7
BEE
= TER 0 0 3 0 0 1
® RIRAD
an HENE 0 1
7| [BAERIEvINE 0 5 42 1 25 1
B| [EmJov5ser 0 0 7 4 7 2 [
#) deiEE-Eit 0 0 4 4 3 1 1
EEY
ok 1 1 1
plig 0 0 0 0
FE 1 0
rHE
Ju - R 1 0




®5-5 BRI OVIALHHLU-EXREZEMOEENOLEBHE (TER)

(B Fho/5)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHBERLES 5,220 44 628 72 20 68 149 45 272 7
FFERENIEE 979 49 325 31 71 28 82 10 51 3
KR 98 2 24 5 3 4 9 0 7 1
mARE 136 16 31 3 1 4 16 0 0 0
HER 14 0 6 1 0 0 3 0 2 0
BER 299 24 136 3 34 8 12 4 15 1
th FEE
5 EE 184 5 59 3 1 1 14 3 10 0
o #HE)E 80 1 26 2 25 6 6 0 1 0
B |BIEI Oy N 811 47 282 17 65 23 59 8 35 2
B| [EEJov75s 167 2 42 14 5 6 23 3 16 1
#) deiEE Rt 86 1 6 7 3 2 2 15 0
EEY
ok 31 1 20 2 0 2 1 0 1 0
bl 17 0 10 1 1 0 3 0
[ 9 0 1 2 0 0 5 0 0
E 3 0 1 1 0
JUN - A 22 0 4 2 1 2 5 0 0 0
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 201 3 35 29 0 1 0
F 3] 13 0 0 2 0 1 0
HARE 70 5 0 0
;'; HER 10 2 0 0
i BEER 0 0
I8 FER
] R 0
5] HE)E 4 0 2 0
#®| |EERIOvIRNE 96 0 3 9 0 1 0
| [ERIOvIRE 105 3 32 20 0 [ 0
o= dbiEE - Rt 45 2 11 7 0 1 0
2|
% ek 11 0 3 1 0 0 0
2 plis 3 0 1 1 0 0 0
HE 27 0 8 5
e E 0 0 0 0 0 0
JUIN - 4R 18 0 9 6 0 0 0
o |mam | omE | ome | mmo s | B0 wor | Ry e
BHEAERLES 518 27 192 59 1 1 1
FERENEE 169 2 11 0 25 0 0 0
RBE 2 1
N 103 5
HER 3 1
BER 0 0
B2 FER
® RIRAD
an HENE 2 1
o |BEEIZovIRE 109 1 0 7
B | [EmJavssar 59 2 11 0 17 0 0 0
#) deiEE-Eit 13 2 6 4
EEY
ok 10 0 0
plig- 1 0 0 0 0
FE 20 0 6
rHE
JUN - i 16 5 8




®5-5 BRI OVIALHHLU-EXREZEMOEENOLEBHE (TER)

- (BAL: Fho/4E)

A2V e o —

A EIRCIETI 70t | i (snes FES FED ziea| 2ot
BHEAERLES 39 2 78 232 4 3,543 1 0 5 10
FFERENIEE 11 0 23 73 39 129 0 39 13

KR 6 3 5 5 20 3 1

mARE 2 0 41 4 17

HER 1 0 0 0 0 0

BER 1 0 4 5 15 31 6 0
th FEE

5] EE) 1 0 12 8 12 53 0 2 1

an HENE 1 2 1 2 2 1 3

B |BIEI Oy N 11 0 22 61 38 124 0 12 5

B| [EmJov5ser 0 1 12 2 5 27 3

#) deiEE Rt 0 0 9 0 1 24 7

EEY

ok 0 0 1 0 0 0

bl 0 0 1 0 0 0

FE 0 0 0

/o & 1

Ju - R 0 2 4 2

IRV x s s | e
TR | T | 2T AR FESA BED izca| 2ot

HHHBENLES 0 0 3 88 15 22 1 0 2

IR 0 1 5 0 3 0

HARE 0 1 55 9

I;"; HEER 0 0 3 1 4 0

i BEE 0

I8 FER

] REE 0

5] HE)E 0 0 1 0 0

#®| |EERIOvIRNE 0 0 3 64 1 15 0 0

| [ERIOvIRE 0 0 1 23 15 7 [ 2

o= dbiEE - Rt 0 0 0 14 2 5 1 2

2|

% ek 0 0 6 0 0 0 0

e A 0 0 1 0 0 0 0

i E 0 1 12 0 0 0

e E 0 0 0 0

JUIN - 4R 0 2 0 1 0

IRy e x =
A EVRCIET Iy 70t | L (snes FES FED || 2ot

BHEAERLES 0 0 7 86 4 44 94 1
FERENEE 0 2 105 14 8 2 1

RBE 1 0

N 1 91 5

HER 1 0 1

BEE

B2 FER

® RIRAD

an HEE 1

7| [BAERIEvINE 2 93 0 6

B | [EmJavssar 0 0 11 14 1 2 1

# TEE - wmit 0 0 0 0 i

EEY

ok 0 10 0

plig 0 0 0 0 0
FE 0 14

rHE

JUN - i 0 1 1 2




®5-6 BIRT OV A LHHU-ERREEMOEER OLHEBHE RRH)

(B Fho/5)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHEAERLES 7,656 2 300 18 387 415 404 42 180 8
FFERENIEE 7,493 29 1,691 46 46 47 339 54 476 20
KR 62 0 2 3 1 3 10 0 7 1
mARE 268 3 5 2 0 4 12 2 3 0
HER 81 0 7 1 0 0 23 1 35 0
BER 3,084 8 294 7 8 12 116 23 179 13
th FER 2,025 0 848 12 6 2 48 10 108 2
fél RIRAD
o #HE)E 1,502 18 505 14 21 18 69 7 97 1
B |BIEI Oy N 7,023 29 1,661 39 36 38 276 43 429 17
B| [EEJov75s 470 0 30 7 10 9 63 11 48 3
#) deiEE Rt 138 0 3 2 1 0 29 6 23 0
EEY
ok 177 0 10 2 0 0 15 1 23 1
bl 40 0 3 1 8 0 9 0 0 0
[ 22 0 5 2 0 2 2 0 0
HE 1 0 0 1
JUN - A 92 8 1 0 5 7 5 1 1
s [ mam | se | mw | mm w0 e | R | macr
HHHBENLES 1,359 15 241 128 1 15 3
F 3] 41 0 0 4 0 4 0
HARE 381 13 0 0
o HEER 152 17 0 0
E BEE 1 ]
B FEE 311 2 84 19 1 4 2
B RIRHD
5] HE)E 55 0 47 0
#®| |EERIOvIRNE 942 2 131 53 1 8 2
Q| [FERZov5E 417 13 110 75 1 7 0
= dbiEE - Rt 176 10 22 27 0 6 0
2|
% ek 61 2 6 13 0 1 0
e s 22 0 0 1 0 0 0
i E 107 1 70 14 0
e E 0 0 0 0 0 0
JUIN - 4R 51 0 12 19 0 0 0
o | mam | omE | ome | mmo s | B0 wer | A<y | mcr
BRAERLES
FERENEE 213 6 78 0 61 0 0 0
RBE 1 0 0 0
N 24 7
HER 25 9
BER 0 0
= TER 21 1 2 9 0 0 0
® RIRAD
an HENE 4 0 0
7| [BAERIEvINE 75 1 3 25 0 0 0
B | [EmJavssar 138 6 75 0 35 0 0 0
# tEE Rt 35 2 17 8
EEY
ok 21 1 3 11 0 0
plig- 3 2 0 0 0 0 0 0 0
FE 72 61 9
HE 0 0 0 0
Ju - R 8 0 8




®5-6 BIRT OV A LHHU-ERREEMOEER OLHEBHE RRH)

- (B Fho/5)
A2V s =
A EIRCIETI 70t | i (snes FES FED ziea| 2ot
BHEAERLES 3 0 296 158 1 5,429 1 0 1 11
FFERENIEE 37 3 219 422 80 3,887 0 40 58
KR 5 0 7 9 5 8 1 1
mARE 4 1 136 1 94 2 0
HER 6 3 1 5 0 1
BER 5 1 68 178 47 2,107 0 15 4
th FTER 9 3 28 36 13 884 11 5
fél RIRAD
an HENE 6 0 96 37 2 604 3 5
B |BIEI Oy N 34 3 201 397 68 3,703 0 32 17
B | [E:mJavsorar 2 0 18 25 12 184 0 8 41
#) deiEE Rt 2 0 3 3 25 8 33
EEY
ok 0 0 5 7 4 105 0 3
bl 0 3 3 8 4 0 1
[ 0 0 3 3 0 4
HE 0 0
T - i 0 7 9 47 1 1
hIA.Y RN =
TR | T | 2T R RESA| ZED |z | 2ot
HHHBENLES 1 1 37 261 7 641 1 0 7
F 3] 0 6 17 0 10 0
HARE 0 14 95 258
I:'; HEER 0 0 37 1 96 0 0
i BEER 0 0
B FEE 0 1 9 31 0 156 0 0
B RIRHD
5] HE)E 0 0 8 0 0
#®| |EERIOvIRNE 1 1 31 188 1 521 0 0 0
| [ERIOvIRE 0 0 6 72 6 120 1 0 7
o= dbiEE - Rt 0 0 2 41 4 60 0 5
2|
% ek 0 0 1 13 0 24 0 0 0
g i 0 0 0 4 1 15 0 1
i E 1 8 1 11 0 1
e E 0 0 0
JUIN - 4R 1 7 0 10 0 0
Wiy |, . AR N =SV 17 %
pri i JLLY | £BL<T E’g)g—gl;ﬂ‘;]_ fhsLy [AnELE ] ik IEVWCA | 2Dt
BRAERLES
FERENEE 0 0 2 35 1 25 2 1
RBE 0 0
N 0 7 9
HER 0 9 0 6
BEE
= TER 1 5 2 1
® RIRAD
an HENE 0 3 0 0
7| [BAERIEvINE 2 25 0 17 1
B | [EmJavssar 0 0 0 11 0 8 T [
#) deiEE-Eit 0 2 0 7 1 0
EEY
ok 0 6 0 0 0
plig 0 0 0 1 1 0
HE 1 1
HE 0 0 0
JUN - i 0 0




®5-7 BRITOVIALHHU-EXREEMOEENOLEBHE (HR/IR)

(B Fho/5)
o |mam | omE | omm | mm s | B0 wer | A<y |
BHEAERLES 7,715 23 860 77 58 87 341 46 422 7
FFERENIEE 1818 136 400 65 44 34 126 23 114 8
KR 52 1 13 8 6 5 4 0 2 0
mARE 105 2 20 4 0 1 6 1 5 0
HER 23 0 2 0 7 0 6 0
BER 412 130 39 2 4 6 17 6 16 3
th TR 225 1 65 20 15 6 18 4 26 0
5 EE 503 1 33 9 2 1 27 5 20 3
an HENE
B |BIEI Oy N 1,320 135 171 43 27 19 80 16 75 7
B| [EEJov75s 499 1 228 22 17 15 47 7 39 1
#) deiEE Rt 102 0 7 8 2 2 14 3 12 0
EEY
ok 136 0 28 9 1 2 12 2 26 0
bl 8 0 3 1 0 0 1 0 0
HE 116 0 99 1 0 4 4 1 0 0
HE 4 0 0 0 2
JUN - A 133 0 93 2 13 7 13 1 0 0
s [ mam | se | ome | mm |won | B0 e | R | macr
HHHBENLES 443 17 71 76 2 5 1
R 14 3 1 2 0 1 0
HARE 72 9 0 0
;'; HEE 35 3 0
i tﬁ%% 0 0
B FEE 93 1 19 13 1 1 1
] R 0
5] HE)E
#®| |EERIOvIRNE 214 4 20 26 1 2 1
| [ERIOvIRE 229 14 51 50 1 3 0
= dbiEE - Rt 97 7 7 16 1 2 0
2|
% ek 36 4 8 9 0 1 0
2 plis 8 0 0 1 0 0
i E 47 2 13 12 0 0 0
e E 1 0 0 0 0 0
JUIN - 4R 41 0 23 11 0 0 0
s |mam | omE | ome | mmo s | B0 wor | A<y | mcr
BHEAERLES 1,368 7 1,358 0
FERENEE 321 13 65 77 1 1 0
RBE 11 4 2 1
N 37 10
HEE 11 0
BER 0 0
2 ;%;i 91 1 25 15 0 0 0
® =
an HEE
7| [BAERIEvINE 150 5 27 27 0 0 0
B | [EmJavssar 71 3 39 50 T [ 0
# deiEE-Eit 60 3 6 15 1 1
EEY
ok 28 3 9 10 0
plig 3 0 1
FE 54 1 12 15 0
rHE
JUN - i 27 12 8 0 0 0




®5-7 BRITOVIALHHU-EXREEMOEENOLEBHE (HR/IR)

(Bf: Fho/4F)

IRy e = -
A EIRCIETI 70t | i (snes FES FED ziea| 2ot
BHBERLES 26 0 245 231 34 5212 0 39 7
FERENEE 29 1 52 102 36 460 1 145 42
KR 9 3 1 0 2 0 0
mARE 5 0 0 27 0 27 5
HER 0 6 1 0 0 0
BER 1 5 22 21 31 0 109 0
th FER 7 1 7 26 27 0 1
5] EE) 1 0 22 22 3 352 0 0 2
an HENE
B |BIEI Oy N 23 1 43 98 24 438 0 114 3
B| [EEJov75s 6 0 9 4 13 21 1 30 39
#) deiEE Rt 1 0 2 25 26
EEY
ok 6 0 8 2 13 19 1 1 6
bl 0 0 0 0 1 0 1
[ 0 1 0 0 0 5
rHE 1
JUN - A 0 0 0 0 3 0
hIR.aY s =
TR | dicy | @mcr | 2ot | shan | shem|FESA BED  macs | 2ot
Hae<d
HHHBENLES 1 1 11 87 25 108 4 0 33
F 3] 0 2 3 2 0
HARE 0 3 25 36
I:'; HER 0 1 10 4 17 0
i BEE 0
B FEE 0 1 3 30 0 20 1 2
] REE 0
5] HE)E
#®| |EERIOvIRNE 1 1 9 67 4 75 1 0 2
Q| [FERZov5E 0 0 3 20 21 33 4 0 30
o= dbiEE - Rt 1 9 2 22 2 28
2|
% ek 0 1 5 3 4 1 0 1
e A 0 0 0 1 0 3 0 1
i E 0 4 10 4 2
e E 0 0 0 0
JUIN - 4R 0 0 6 0 0 0
IRy e s -
A EIRCIETI 70t | e (snes FES FED || 2ot
BHEAERLES 0 2 0 0
FERENEE 0 6 49 22 51 6 28
RBE 0 0 2
N 0 3 6 17
HER 0 4 4 3
BEE
= TER 0 2 30 16 0 2
® RIRAD
an HEE
7| [BAERIEvINE 0 5 41 4 39 0 2
B | [EmJavssar 1 9 18 13 5 26
#) deiEE-Eit 0 2 1 4 0 25
EEY
ok 0 1 2 2 1 0
Pl 3 1 0 1 0
FE 1 4 10 6 4 1
rHE
JUN - i 0 0 6 0







